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General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qug A
SECTION A
1. ‘Fureran 0 aRenfya i 1
YT
T T W Y& o feheal &l Sl ol 3g@ <hIfT | 1
Define ‘Efficiency’.
OR

State any two functions to be performed at supervisory level of
management.

2. U W IMUR W AU e qA SETEIG T H I T
HIRTT | 1
3tera
T ITA AT qAT AR AT H 31 % YR W AR T HINTC | ]

Differentiate between ‘Formal Organisation’ and ‘Informal Organisation’
on the basis of ‘Nature’.

OR
Differentiate between ‘Single Use Plan’ and ‘Standing Plan’ on the basis
of ‘Meaning’ .
3. TH WISH U4 HEANET hl AH-THE (UfISeT) STeavIsharedi ol Hdl dgse
HAT 8 ? IeCTE hITT, | 1

How does an organisation satisfy ‘Esteem Needs’ of its employees ? State.

4. AN ArEd g T had Icurg’ w1 fauuE g wekar 8 | Teg 38 SAfaih fohet
IR 1 fouom oft B gepar B, S warEey g & o et gaiE | gEE,
gl foheeht foauvE &1 @1 7 | 1

People think that it is the ‘Product’ only that can be marketed. But
something else can also be marketed, e.g. Visit Kerala for Health

Tourism’. Identify what is being marketed here.

3 P.T.O.
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5.  Touue T o T O o T H oA A AY GINT |
AT
‘S greh 1 1 AL 7 2
Give the meaning of ‘Price’ as an element of marketing mix.
OR
What is meant by ‘Public Relations’ ?

6. US G o T WM o &9 H o9 Tl o 918 T 50 @@ hi qal 31
95Tt qAT T 20 AT@ I ST §h W RO 7 | TS A9 AR HH WA
fAMEE 9 79 |HAT SIUWEh] I AT o 1 Ui fohal ot 3= TRl
g7 5 Aotfa g 7 AW A R ufoey @ e |
oy v s aifad e 9Tl 38 Res hl g shifvie Sees g et
S I fAftRE g A PTaE W) Afded @ E S SAfG YeH 6
T |

As a part of its capital structure, ‘Venus Ltd.” had ¥ 50 lakhs as Equity
Share Capital and a loan of ¥ 20 lakhs from Neon Bank. On earning a

good profit, ‘Venus Ltd.” decided to give dividend to the equity
shareholders but were surprised when the Neon Bank imposed
restrictions on the payment of dividend.

Identify the factor affecting dividend decision that allows Neon Bank to
impose restrictions on the payment of dividend by ‘Venus Ltd.’

7. U e W Ueh AR, I« Ush T o FadR] & T1Y SATETR—h qHeid
I qUT B T AT A IAA Th UH Weg 1 AT TR Rrept o1qae @i
AYATSHE HHET ST o1 | 399 TI9 o SIg@Rl bl I T feam qon =g
gueid ¥ Ns g2 T |
TS TUYYT H WIYNT Fehlae 1 3ot <hifY |

Mark Nar, a Latin American, while closing a business deal with a

businessman from Spain, used a word which was considered offensive in
Spanish when translated. This made the Spanish businessman upset and
he backed away.

State the semantic barrier to effective communication.

4
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10.

YT SATIh AISHT & Teh 9T o &9 § e fafies’ 3 a8 fofy fomn o a7
39 FAHM Sl o oHadTd o 1Y Thanedi (fafafyr) S weh 75 afe S |

JISHT & YR ohl gAY | 1

As a part of its comprehensive plan ‘Neerja Ltd.” decided to combine a
new line of activity with its existing footwear business.

Identify the type of plan.

Qs d
SECTION B

&y @& ey & Y fordl i foyarett =1 3g@ Sl | 3
HAAAT

TUor S gHTEqUidT § UR & fohedl o U 1 3g@ HIf | 3

State any three features of directing function of management.

OR

State any three measures to improve communication effectiveness.

TS B HANIH Th HIhl TE @ & Sl ARG o d1d TAl § HRsid
2 | T SR § it 1 e g g ot ot et SeATes @t %
Hieww ¥ 39 fosh fopam 2 | Pl @1 U S aen Soared fawm, omqfd
TG THYT AT GUR-TH T, s1vg Seee fawm don fosea fawmn 2 | 59
GTEAT § ThATces HRreidl H R 83T 8, Fifeh hHarl A9+ hries § fasms
o9 Y | 3 forfvree fteror ot fean S whAT o wiifeh A8l g©d g foarg i
Uft o hIvrAl T o7 |

TS HIth! HIUANIM oh GISTHD G hl TgaH HIT | TY & ITH 1T o0e
o =fda o & sifafics 3@ @9 & @ 3= ol W 3g@ ot Fifse | 3

5 P.T.O.
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11.

12.

13.

Roasted Coffee Corporation is a coffeehouse chain operating in seven
states of India. Through its effective organisational structure, it has
grown despite pressure from competitors in the national market. The
company has a Purchase and Production department, Supply chain
management and logistics department, Brand management department
and Sales department. This structure has facilitated operational
efficiency, as employees became specialists within their own realm of
expertise. They could be imparted specialised training as the focus was
on limited range of skills.

Identify the organizational structure of Roasted Coffee Corporation. Also
state the three advantages of this structure other than those discussed in
the above paragraph.

Th HI o Yol awiten fui @l gwifed e Al TRl i Rl hI
AT |

HYAT
o =S 6 <8t 3Tl <l GHETST |

Explain any three factors affecting capital budgeting decision of a
company.

OR
Explain the twin objectives of financial planning.

foregl oA el W “orawer’ aun Taehedishter H ofavg i |
Differentiate between ‘Delegation’ and ‘Decentralisation’ on any three
bases.

IAH TreTTSell 3o TUad] Tt T o Sl o HHidl & | ¥iel o Sl hl
AT 9 Wl @ Hilh AN JTTES &l © 7 b wifeesh ey o fau s=s 78
3 | 3O T % §o o e H g g 7 | fasw = s @ % o
A TeTgels § Uk 3ef 9@ (hfge) Hifa i omon it it sHs o
SHAT3Ti &l i T8 6 @ (Shise) ot 7 |

TR o T H TN TeuTEeS sl e dofl eTavaehareti i guifad
T AT G B I TgaM HINT | SR |fgd 3g@ Hifoe 7 3w gg=m

T SHehi oh TNUMTHEEEYT SIS Yol hl STTTTIhdT 3TMeeh BRI 31T &H |

6
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14.

66/3/1] 7 P.T.0.

Steelone Enterprises is manufacturing high quality steel utensils. The
demand for steel utensils is rising as people are getting aware that
plastic is not good for health. This has led to increase in production of
steel utensils. To encourage sales, Steelone Enterprises declared a liberal
credit policy which allows three months credit to its wholesale buyers.

In the light of the above, identify the two factors affecting working capital
requirements of Steelone Enterprises. State with reason, whether the
factors as identified above, will result in high or low working capital
requirement.

Qs "

SECTION C

T S 7 wRa ® T fed’ o yag foees 1 YR 99T | STaH
oo g arett fopran fed’ fUset 40 auf @ Poo aa™ = & 2 |
30 fafys <l # &l wrfed 2, T &t Sie o9 & i gl i
q@ulﬂoh{dl%lq\l Ig T w1 TS g, 3d: & el &l gearad
SN Tllhd Nl Sl T m%m%w%m@éwwﬁvﬁéﬁ
o1 SRR fezm T # |

“Tran fed’ Afder sIagR & TdUSs HYTfad HMcSl 1 UTad =mgdl & a
i ! aER § @M o T 39w ueh o= afgar foemm 8 | vt
AN T HA Hd gHI Gt FHANET 9T S8 &l &l IAdH SARTd el
IR SEEAT < HIICE! o TR I ST EYIH @ | FEH! I 7 Hd T
Wi} g qen A gAY afrferd @ |

“Toran fed’ g0 3TUHTT U HHT YEY & TRl @ fagidi o eHeEsu |

Damini D’Souza took over the reins of ‘Kinsa Retail’ as its Managing
Director in India. ‘Kinsa Retail’ with its headquarter at Japan has been
in the retail business for the last 40 years. It has regional offices in many
countries that take care of the shops in that region. As it is a large
organisation, the regional officers have been given the powers to decide
and spend funds sanctioned to them by the headquarter for the welfare of
the customers of their region.

‘Kinsa Retail’ wants the highest possible standards of ethical conduct
being followed, for which a code of conduct is in place for putting values
into practice. All employees as well as Board members are required to act
in accordance with the highest standards of personal
and professional integrity when acting on behalf of the company.
Non-compliance involves a heavy penalty including termination of
employment.

Explain any two principles of general management being followed by
‘Kinsa Retail’.
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15. R AR o Fheel TR T i GHEST | 4
HAYAT
TIfies SR § ¢ At o Jaaq (FresH) i fhedl @ fafedt o awemse | 4
Explain any four functions of ‘Stock Exchange’.
OR

Explain any four methods of floatation of new issues in the primary
market.

16. q9F §F 7 AT FAUE g S drelt T Dl Th B a1 Fara (diéad)
oA § g feomea foem | wefii &1 s=@ & folu 38R 1R =9 & @1 T
qagiar foram S Al § 50% ST o WY IS o foxfi & fou wgwa &
T | O3 ! SO § 3R o folu 38 forawor o e wiedy st == foha |
38 ITW Bl HU-LHY HT AW AT | YW 9 § IR THE I ATk
AT HAFT AT | 37514 Hefia o foaawor @ fow oo s) o 30 wfvrfera foskaepaten
i fgRe A1 | o9 fosha @& I QU S % U ImiH faskaskatett

icdTe" T JIEhR FaTiad foh |
(%) HU-THT g IFAN TR TC foquH-geH 6T ggam HIT |
(@) HU-THT g ITAN TR o1 Jareq 1 wred (fafafy) g |

(M) UE Tl QO R Sg@ I f feskeekdist 1 e % forg
HY-T-gY AT S § @1 T g | 4

Tapas Sen, a manufacturer, redesigned his existing soup making
machine into a small and portable machine. For selling the machine he
entered into an agreement with his uncle who agreed to finance the
project with a 50% share in the profits. To launch the machine they
decided to start with direct channels of distribution. They named the
venture as ‘Cup-a-Soup’. In the first year their main objective was profit
maximization. They appointed 30 trained salesmen for distribution of the
machines across the country. They offered incentives and awards to
salesmen for achieving their sales targets.

(a)  Identify the marketing philosophy used by ‘Cup-a-Soup’.
(b)  Identify the tool of promotion used by ‘Cup-a-Soup’.

(c) For hiring the salesmen, state any two qualities ‘Cup-a-Soup’
would have kept in mind.
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17. ‘SfeT o1 1 31 B 2 IUMRIST o oY SIS o fehegl 9 el ol 3g@
IV | 4

HAAT

“Yepfort’ ol @7 31 8 2 Uehlomt & fohegl ofiF Sl ol 3g@ Hifu | 4
What is meant by ‘Branding’ ? State any three advantages of branding to
customers.

OR
What is meant by ‘Packaging’ ? State any three functions of packaging.

18. A1 feafies we fova wlim guan dedis ot wmsien wroet @ f5e| 45,000
HAA 600 ¥ 31H UTERl Bl 23 M H TI¢ YgH Hd 7 | 8k G&A
FHRIHR it fid gua 3wl ot fafadismr qen fawm & fow g gument
de qrteyH fear fa8 a8 gidedar 3= <kl 9Ra <Al T Ul wEadl &1 T8 |
HI 4 U HHATT I TS U0 Hgex HTaId +H gq AR Bl
fufror o 2
TR ‘Wioee MeeH Wi 52 feH w1 vk wxfua ufiteror wrisn 2 | 9 fafie
TS atel At JU el i SAawISh SATGRING AUl dehdlchl vl H
gfSreqor ¢ o oI wEarfaa fomem Siran 8 S 32 wsfia IuwiRhT giSTeT o sl
HH o U JIR HT@T B | ThAIhl, URIR qAT YSEEh AT o (U 37 T&=a1
i e fovafoenet 9un Yoy el @ 61 A 8 | Ig TR0 SRRy AU
HUATET T Teg & AN, RIS, HE q ¥ad™ 3 IR St ¢ & J
T B T HERIT il 2§ |
(%) € HH=TET I FIRE o6 TIC HEoT T 9T fohu U Wt o STeg |l

el g hIfT |
(@) 9 (%) ® 989 T 9l o Gid o ITAM g gk foht T¢ she=nii
% gforeror < fotw seot gro 3w <6t 18 afverr fafyy 6t wmemsw |
(M) UE TRl @ qlenl w1 IgE Hig R Ueee mseE S Sl
fafiee =1 amwifaa & @ | 4
166/3/1 9 P.T.0.




G

Xeno Ltd. is a global information technology consulting company with
45,000 employees serving over 600 clients in 23 countries. Its Chief
Executive Officer, Neil Suman, guided the company through two decades
of diversification and growth to emerge as one of the leading Indian
companies in the software industry. The company has set standards in
ensuring the best training opportunities for its employees.

Its ‘Project Guidance Program’ is a 52-day structured training
programme. This is offered to all recruits of varied backgrounds to be
trained on essential behavioural and technical skills that prepares them
to work in live customer projects. These recruits are hired from
universities and management institutes for technical, professional as
well as managerial jobs. The training programme helps the new
employees in settling down quickly into the job by becoming familiar with
the people, the surroundings, the job and the business.

(a)  Identify the external sources of recruitment used by the company
to hire new employees.

(b)  Explain the method of training used by the company to train
employees selected by the source of recruitment identified in part
(a).

(c) State any two ways in which the ‘Project Guidance Programme’
can benefit Xeno Ltd.

19. Iua.ssey, fafiee’ & yog Fowes onfeey @rgen qon foxfia yags o 3@
Hrgt o ARy et sl FHaw fhy I ot &9 % SR H I= W R 9
3TTieed WrEa &1 o= o foh o7 o1 faw IS a9R & foran S =iz, =i
wfgard 89 & Sror Tow g w1 "o of fob oe o1 faw ger aein § fean
ST 3 BT | RiTeh Jrefeawd Ichg off, TEY e 4 Tomr g ol TR
HT Toh I Ichg AYITEAT T AW I3MT MY TAT =S AfThal i I
H o fofe ISft arom 6 fawr e =nfee | siqa: ffsks et w1 4ot e §
[EENICECICAREURRTRIRICIN
(%) HII I fFT THR & IUHT T KT HEAT ALY 2

(@) 3Ichg AdTEd § ISt SR gRT o1=a Ufqwhet shl |uTeHT ot Bt & 2
HRUT T Ie0@ HIT |

() 38 SR Sfofaat ga1 SR S oTvE o guiea @ 9 @ 2
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20.

Aditya Khosla, the Managing Director of ‘D.L.W. Ltd.” and Rajesh Puri,
the Finance Manager were discussing about avenues of investing the idle
funds of the company. Aditya Khosla was of the opinion that money
should be invested in the capital market whereas Rajesh Puri, being
more conservative, felt that it would be better if the investment was
made in the money market. Since the economy was buoyant, the
Managing Director convinced Rajesh that they should take advantage of
it and invest in the capital market to get good returns. Ultimately it was
decided to invest the idle funds in the capital market.

(a)  What kind of instruments should the company buy ?

(b)  Why is the capital market expected to give a better return in a
buoyant economy ? State the reason.

(c) Why and how safe are the securities in this market as compared to
the money market ?
Qug g

SECTION D

gAd T HUSfae IR A R @TRdl off | 3T AH-ated Iuwiey fafia
Gugfoa TRel i AfF hl AT qoAi hl JoT I AR T FlgHAUl ae
IO FHOR forn ST Heh | 36k U 98 UTH W Ush S9N H HUS(IE e
Glied T8 | T Gaw A6 o A1d 36 Fal Al 9% <@l | gHHGR 3¢
fafia 2kt fo@me @iferd a7 3TH-ated wife fopT T qew § 31fYres W = @1
o7 | MG ¥ STq=ld i % YA 98 i hl HH U H 9% 55 | Th
STRERT ITHET Tl TE I IcUIG oh TTT YA ohi T8 TR o agcd H hal HHI
I O T TAT TS Dl W A T | Uehal WioH W W Toh oM gieieht fiet,
el Se TEuHigES TeT | 3Eh TwE 36 W T & UH-TE wh
ITER fohaT T o9 UfER o o oat qg ¥ e fohu U ool gvefoa
ST |

(%) = 61 @i % wfafew g g e e e 4 st &

3@ HIfT |
(@) 3y feufa @ = forgl g1 Afereprl =l THETST |

11 P.T.O.
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Suman wanted to purchase a sandwich toaster. She checked about the
various sandwich toasters available online and compared the prices so
that an intelligent and wise choice could be made. Then she went to a
nearby market to buy the sandwich toaster. Being an informed consumer,
she looked for the correct standardisation mark. The shopkeeper showed
her different toasters but was quoting a higher price than the price she
had checked online. After negotiating with the shopkeeper, she was able
to bring the price down. As a responsible consumer, she asked for a cash
memo, against the amount paid for the product and took the toaster
home. On opening the package, she found an instruction booklet, which
she read carefully. Then she followed all instructions step-by-step and

made nicely toasted paneer sandwiches for her family.

(a) State any two responsibilities, which have been discharged by

Suman, besides asking for a cash memo.

(b)  Explain the two rights being discussed in the above case.

21. YEY % HEE W YR SO AT [heal qid forgatl ol qHesy |
HAAAT
‘T’ <6l fopgl ar foRiwneT Sl /sy |
Explain any five points which highlight the importance of management.
OR

Explain any five features of ‘Co-ordination’.
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22.

et fava i ahaan HHfE § 8 T, hEd Tl % &I HIREGH
ARl B | IThH! THAdT hl HIAT bl TAl-WIfd eEdres T fean mm o1 |
g AU AMING qAT AT YRl HI =T HAT g A1 319 D Hl fod
3Gl TEIAT o GoHTHe a1 JATd €9 § & Tohd @ | 98 T % TG&Al
T T TG T hl AAT THEATRAT i T AT hl STFAT <1 3 |

98 aft TEAEY HAT g I Tldehd IRIEATT i Ik i hl STTawIhdl Bidh
8 | ST d YO ®9 H AEIF 7 98 AUHR B TN A& Bl | I A
AN G AT B <l 8 ATk o 399 1@ of Hoh | 98 3eh! 0 <l & ao
35 TCU TTT 1T Sl QU L 6 [T ETTH =1 TG Hl 3 |

(%) <SHA GRI STHTS 715 (e A hl Tg=H HIT |

(@) o 1 derar € AHR & M W UG 31 3 Aqed ATl i
HHATRT |

Handsen is the CEO of ‘Newcastle Enterprises’, one of the world’s most
successful companies. His success stories have been well documented. He
chooses highly motivated and capable managers who can perform their
tasks creatively and adequately without his help. He allows the group

members to work on their own tasks and resolve issues themselves.

He intervenes, but only when needed to correct an unfavorable situation.
He does not use power unless it is absolutely essential. He even allows
mistakes to happen for his people to learn from them. He supports them
and supplies them the required information to complete the assigned
task.

(a) Identify the leadership style adopted by Handsen.

(b)  With the help of diagram, explain the other two leadership styles

based on the use of authority.

13 P.T.O.
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23.

24.

Qus q
SECTION E

T Y H RAR SHEET % 90% | T g o HEdIehial a&d % |1 §RY
S 9 RIRE AW U Uk Sl Haq™ Aides H Tmud feRam | 3EH 39
IIHE hT TIF 3T GO o A1 fohar foh 37Tl 2 — 3 991 § 21 Hanedt shl /i
IR N ¢ AT | TH HEaThiel AT Dl G A b forw 39 AT a1 TRt
A SATehIH STGETT o1 JTEUEY hiAT AT 1G] fohEl & Y F&INT AT o
AT HIN YT o HRUT AThTHRAT o 1Y T&ad €Y G ehedl =T AT |

Ig B! TE ° AMd g¢ Tk o1 1 3l AfeRi o uREdd o #R0 AN
¢ Tohd &, 394 fafv Swrafaai < TearEi 1 qeTcHesh Yoo S 3797 311,
T GIAT, AT YA, 3 o IR T |

STH TS H TEY o Teh ¥ o HS aWI hl =4l hl 5 & | ITYH <0G
Y Ufthal 3gYd HId g §H =N ! HIoBhATG &9 H THLATITY |

Saurabh Jain set up a telecom business in Nasik, named as ‘Ketone’, with
an ambitious target of reaching out to 90% of the Indian population
within one year. He chose this business on the belief that the demand for
data services will increase 4 times within the next 2 — 3 years. To fulfil
such an ambitious target, he had to either acquire an existing telecom

business or collaborate or go independent aggressively in the light of
tough competition.

He assessed the proposals of different companies vis-a-vis earnings per
share, tax liabilities, dividends paid, etc. and their future projections,
knowing fully well that the projections may change if the country’s
economic policies get modified.

The above paragraph discusses some of the steps of one of the functions
of management. By quoting the lines from the above paragraph, explain
these steps in chronological order.

T =1 afonfya ST | ey W FEeE qen Fe Rt o 95y g9y &
HHHATST |

HAAAT
o1 wfshern < oy =won st a9emsT |
Define ‘Controlling’. Explain the relationship between planning and
controlling functions of management.

OR

Explain the various steps in the process of controlling.

14
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25.

IR geashell foUEa §deh Ofd-famel qen woquedi & &Ru Sifad g |
TS, T[S, 3TEH, TG o SeARIeddl gRI SHIT T §EAhall 3¢A1E A had]
<9 | 39 fopu STd € *Afug .. R, S, .., Hi o fava % et
oo # oft ffa fpu Srd € | 39 3curel o i Sl O | WRA Wl YT
GqeH qT ST Tavah focel qg1 1 oW fierar g | Joam w:=f =mgd & &6
EEAhell I bl dohdlehl o HTY JIghl SHhT kR fohdT JTT | SHT heg
farg fomioft wishen ot wfafda e, feshreum & gifeaa e o TayEdH
I IHMT BT @MY |

39T AgeHE ° Uil Wl IgYd hd gY SATGEIIh TARU o foheal =R
ST h! FHTSY |

India’s craft heritage is surviving because of its customs and traditions.
Craft products made by craftsmen of Rajasthan, Gujarat, Assam, etc. are
not only used in the country but are also exported to USA, Germany, UK,
France and other countries of the world. The volume of exports of these
products gives India an advantage in balance of payments and the much
needed foreign exchange. The Prime Minister desires that the handicraft
industry should be expanded by linking it with technology. Focus should
be on changing the manufacturing process, ensuring durability and
adopting innovations.

Quoting the lines from the above paragraph, explain any four dimensions
of the business environment.
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